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Jr. Inter 1B Model Paper

Section -A
10x2 = 20
Find the equation of the straight line passing through (-4, 5) and cuttieguzfl non-
zero intercepts on the coordinate axes.

(-4, 5) Dothsh Tegoe P, DEFSTeP B wodSpomren $&0 walger ot

R8¥ Sgre D800 E08% 08 ?
A straight line meets the coordinate axe& and B. Find the equation of the straight line,

when (2p, 2q) bisects

QEFIzro A, B écg HO&IT AB 3506,55 80y (2p, 2g)w @‘6& 3883 d&oESes0
§263§6&o& ?

Show that the point&(3, -2, 4), B(1,1,1), C(-1,4,-2) are collinear ?

2 DothiYen $BDA HrHod ?
Find the equation of the plane passing through the point (-2, 1, 3) and having (3, -5,
as direction ratios of its normal ?

(-2, 1, 30y weqoe AP (3, -5, 430 wdwo B &F Soggenr &) oo S
8890 é?éagszfo& ¢

Show that é:é;é’sgjo&?

Compute §508% 087

If x = tan (e) 3, then show that

d —aY
d_i:1+ex2 9 LH0& ?

If X3 + y3 — 3ay = 093, find §?63§‘5&o& ?

If the radius of a sphere is increased from 7 cm to 7.02 cm, then find the approximate incre
in the volume of the sphere?

&% a°§£ﬂ>®c§o T 200.80. 09 T.02 20.8.5 2OAS &8 {% H05508me08° 2HH
S0k 8508%047

Verify Rolle's theorem for the functionxj(= sinx — sin Z on [0, 1] ?

f (x) = sinx — sin X (P8 [0, 1] 2 &°3 deposrd) K8 HrEod ?
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Section - B
5x4 =20
A(2, 3); B(-3, 4) are two given points. Find the equation of locus &b Ehat the area of
triangle AB is 8.5 sg.units ?

A(2, 3); B(-3, 4p» Both Hochhen. PAB Behes Faeeg0 85 5.057. eodlhger PO

H  DokhdoeR) 88 0d ?
When the origin is shifted to the point (2,3) the transformed equation of a cxfve is
3xy — 2y? + 17x — 7y — 1L = 0. Find the original equation of the curve ?

S Hothd (2, )& HBL5ES0 BISHPL Ererarods $DoEGes0 X2 + 3xy — 2y
+17x -7y -1 =0 28 Sre SDoBBHo 85HE% 0 ?

Transform the equation into the normal fornwhen a >0 and b > 0. If the

perpendicular distance of straight line from the origin is p, deduce that

@ | x
+
o<

=1 3&E80d wdworHost8 SreE)0d? Sorredothy) $od & H8¥3

1_ 1 1 «
P &) vowd B0 STzt Q) $eh0s?
p° a° b

Find the derivatives of the cosfunction f(x) from the first principles ?

Koo Ko 50D CoFX wS¥wmed) 8508508 ?
Show that

where a and b are real constants, is continuoxs &x.
D (BaHo x = 0.5 D)0 @ SrHod ?

A point Pis moving on the curve y =x2 Thex co-ordinate of Rs increasingt the rate
of 4 units per second. Find the rate at which the y co-ordinate isasarg when the
point is at (2, 8) ?

P £oc$Hs) y=2¢ S0 SO8T 0. X WErDES® $108ew 4 abhr /. 08 & Hoth
H 28 3¢ SHHped y DKo 5@)&@3@?
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Find the tangent and normal to the curves y=2at the point where the curve meets the

y-axis.
y = 28R 5oy el 90808 Hothy ¢ )P, wdeown Sar SoEtrols
§508% 087

Section - C 5x7 = 35

Find the circumcentre of the triangle whose sides are\y8—5=0, x +2y— 4=0 and

5x+3y+1=0 0 gherrenmr &) Babes HBEo@eR) 8% 08 ?
Show that the product of the perpendicular distances from a pQi} (o the pair of
straight lines & + 2hxy + by =0 is

|[aa® + 2haB + bB?|
J@@a-by +an?

(0, B) Dot 0D ax? + 2hxy + by? = 058¥Cer armR8 ADS eow Krore oo

‘aa2+2ha[3+b[32‘ 99 B350 ?
J(@-b) +4h’

Show that the lines joining the origin to the points of intersection of the ztirviey +
y? + 3x + 3y — 2 = 0 and the straight lize- y —v2 = 0 are mutually perpendicular ?

S Doth)B X2 —xy + Y2+ X + 3y—2 = 0 SBo, x—y —V2 = 00 LS Do

Ho®H E9% S8¥dpen ©020m GodreaH HrHos ?

Show that lines whose direction cosines are givehtogn + n =0, 2mn + 3n-9m =0
are perpendicular to each other ?

|+m+n=0, 2mn + 3n- 9m = O@dﬁozg@ Both $8EBpe B §PR &0 e 38
$02e0n ©020me GOEPON BeHod ?

If

& then show thatg—i =2Ja’+x* 9 SeHod?

If the tangent at any pointdh the curvek™y" = d"*" (mn # 0) meets the coordinate axes

in A and B then show th&P : BPis a constant ?
Xy = g (mn# 0) 08 SEow POoY $& $15H8e dErdsets A, B $& pod
R AP : BPRTPOENQ #8508 ?
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From a rectangular sheet of dimensions 30 cm x 80 cm. Four equal squarexahside
are removed at the corners and the sides are then turned up so as to form an open
rectangular box. Find the valuexyfso that the volume of the box is greatest ?

&quﬁeﬁod@ Ho¥ Soden 30cm=80 cmes Ho¥ Teeord SHree Sod x ghaore &)
SHY T 0 Fofod, 2harod 28 Sodm )G BFSHIE DG Hfo KoL x
508%.08 ?
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